MIAMI-DADE

MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

TKO Doors, Div. of 4Front Engineered Solutions, Inc.
N56 W24701 N. Corporate Circle, Ste A
Sussex, WI 53089

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to
be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section
(In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this product
or material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use
of such product or material within their jurisdiction. RER reserves the right to revoke this acceptance if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Model CW WL Dock Plastic Sectional Garage Door up to 10°-0” Wide
APPROVAL DOCUMENT: Drawing No. 26-26611, titled “Fiberglass Dock Doors CW WL Overhead
Garage Door”, sheet 1 through 8 of 8, dated 04/14/2011, with last revision dated 07/31/2020, prepared by
Engineering Express, signed and sealed by Frank L. Bennardo, P.E., bearing the Miami-Dade County
Product Control renewal stamp with the Notice of Acceptance number and expiration date by the Miami-
Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation
instruction drawing reference number, approval number (NOA), the applicable test standards, and the
statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s side
track, bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product,
for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any
section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 20-0901.12 and consists of this page 1 and evidence pages E-1, E-2, E-3 and E-
4, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

: NOA No 21-0823.04

Expiration Date: September 15, 2026
Approval Date: September 30, 2021

Page 1


utrera
New Stamp


TKO Doors, Div. of 4Front Engineered Solutions, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under previous NOA’s

A. DRAWINGS “Submitted under NOA #16-0329.05”
1. Drawing No. 15-2402, titled “Fiberglass Dock Doors CW WL Overhead Garage
Door”, sheet 1 through 7 of 7, dated 04/14/2011, with last revision dated 05/19/2015,
prepared by Engineering Express, signed and sealed by Frank L. Bennardo, P.E.

B. TESTS “Submitted under NOA # 11-0513.04”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
Along with marked-up drawings and installation diagram of Series/Model CW WL,
dock door, prepared by Architectural Testing, Inc., Test Report No. 98517.01-602-18,
dated 03/24/2010, signed and sealed by Joseph A. Reed, P.E.
2. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
Along with marked-up drawings and installation diagram of Series/Model CW WL,
dock door, prepared by Architectural Testing, Inc., Test Report No. 89514.01-602-18,
dated 04/24/2009, signed and sealed by Joseph A. Reed, P.E.

3. Test report on Accelerated Weathering using Xenon Arc Light Apparatus for 4500
hours, per ASTM G155-04 and on Tensile Test per ASTM D638 of FRP composite
panels, prepared by Architectural Testing, Inc., Test Report No. A3696.01-106-18,
dated 05/04/2011, signed and sealed by Joseph A. Reed, P.E.

4. Test report on Self-ignition Temperature per ASTM D1929-96(2000)e!l of various
plastic and fiberglass door components, prepared by Architectural Testing, Inc., Test
Report No. 95487.01-106-31, dated 11/04/2009, signed and sealed by Joseph A. Reed,
P.E.

5. Test report on Smoke Density Rating per ASTM D2843-99(2004) of different types of
plastics, prepared by Architectural Testing, Inc., Test Report No. 92103.01-106-18,
dated 05/04/2011, signed and sealed by Joseph A. Reed, P.E.

6. Test report on Smoke Density Rating per ASTM D2843-99(2004) of vinyl and seals,
prepared by Architectural Testing, Inc., Test Report No. 95487.02-106-31, dated

11/04/2009, signed and sealed by Joseph A. Reed, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No 21-0823.04

Expiration Date: September 15, 2026
Approval Date: September 30, 2021


utrera
New Stamp


TKO Doors, Div. of 4Front Engineered Solutions, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

B. TESTS (CONTINUED) “Submitted under NOA # 11-0513.04”
7. Test report on Rate of Burn per ASTM D635-06 of different types of plastics,
prepared by Architectural Testing, Inc., Test Report No. 92103.02-106-18, dated
08/19/2009, signed and sealed by Joseph A. Reed, P.E.
8. Test report on Rate of Burn per ASTM D635-06 of vinyl and seals, prepared by
Architectural Testing, Inc., Test Report No. 95487.03-106-31, dated 11/04/2009,
signed and sealed by Joseph A. Reed, P.E.

C. CALCULATIONS “Submitted under NOA # 15-0916.07”
1. Jamb anchor calculations prepared by Engineering Express, dated 05/05/2015, signed
and sealed by Frank L. Bennardo, P.E.

“Submitted under NOA # 11-0513.04”
2. Jamb anchor calculations, complying with FBC-2007, prepared by Engineering
Express, dated 04/15/2011, signed and sealed by Frank L. Bennardo, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS “Submitted under NOA # 11-0513.04”
1. Test report on Self-Ignition Temperature per ASTM D1929-96(2000), Flame Spread
Index and Smoke Developed Index per ASTM D84-10b of RayLite EPS foam
insulation, prepared by Architectural Testing, Inc., Test Report No. B1755.01-122-18,
dated 08/17/2011, signed and sealed by Michael D. Stremmel, P.E.

F. STATEMENTS “Submitted under NOA # 15-0916.07”

1. Statement letter of code conformance with the 5% edition (2014) FBC issued by
Engineering Express, dated 05/19/2015, signed and sealed by Frank L. Bennardo, P.E.
2. Statement letter of no financial interest issued by Engineering Express, dated

05/19/2015, signed and sealed by Frank L. Bennardo, P.E.

e

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No 21-0823.04

Expiration Date: September 15, 2026
Approval Date: September 30, 2021


utrera
New Stamp


TKO Doors, Div. of 4Front Engineered Solutions, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. Evidence submitted under NOA # 16-0725.02

A. DRAWINGS
1. Drawing No. 15-2402, titled “Fiberglass Dock Doors CW WL Overhead Garage
Door”, sheet 1 through 8 of 8, dated 04/14/2011, with last revision dated 02/05/2018,
prepared by Engineering Express, signed and sealed by Frank L. Bennardo, P.E.

B. TESTS
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Test, per FBC, TAS 202-94
along with marked-up drawings and installation diagram of Series/Model Cruiser
Weight (CW) WL dock doors, prepared by Intertek, Test Report No. 102936264MID-
003, dated 05/01/2017, signed and sealed by Joseph A. Reed, P.E.
2. Test report on Airflow (Infiltration and Exfiltration) Rate, per ASTM E283-04 of a
Cruiser Weight (CW) WL dock door, prepared by Intertek/ATI, Test Report No.
E7174.01-602-18, dated 07/21/2015, signed and sealed by Justin P. McDonald, P.E.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS

1. None.
F. STATEMENTS
1. Statement letter of code conformance with the 6™ edition (2017) FBC issued by
Engineering Express, dated 03/29/2018, signed and sealed by Frank L. Bennardo, P.E.
2. Statement letter of no financial interest issued by Engineering Express, dated

03/29/2018, signed and sealed by Frank L. Bennardo, P.E.

i

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No 21-0823.04

Expiration Date: September 15, 2026
Approval Date: September 30, 2021


utrera
New Stamp


TKO Doors, Div. of 4Front Engineered Solutions, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. Evidence submitted under NOA # 20-0901.12

A. DRAWINGS
1. Drawing No. 26-26611, titled “Fiberglass Dock Doors CW WL Overhead Garage
Door”, sheet 1 through 8 of 8, dated 04/14/2011, with last revision dated 07/31/2020,
prepared by Engineering Express, signed and sealed by Frank L. Bennardo, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS

1. Statement letter of code conformance with the 7% edition (2020) FBC issued by
Engineering Express, dated 08/04/2020, signed and sealed by Frank L. Bennardo, P.E.
2. Statement letter of no financial interest issued by Engineering Express, dated

08/04/2020, signed and sealed by Frank L. Bennardo, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No 21-0823.04

Expiration Date: September 15, 2026
Approval Date: September 30, 2021


utrera
New Stamp


CAUsers\eric\Engineering Express\Production - Documents\Projects\20-26611 - NOA - 16-0725.02 - Model CW WL Dock Garage Door up to 10WAWP\20620 FBC\6b 20-26611d CW WL Fiberglass Dock Doors (NOA).dwg

eric

08/11/2020 - 3:26pm

FRANK BENNARDO, PE
CW WL DOCK DOORS der
LARGE MISSILE IMPACT RESISTANT
/ PRODUCT REVISED ey
y \\ 118.750 PANEL WIDTH as complying with the Florida GEN ERAL NOTES s 3
/- \ ~NOTE: PANELS MANUFACTURED 1.250" e Building Code R Squem &%
\ LESS THAN DOOR OPENING WIDTH NOA-No. 20-0901.12 = b M240
/ | 1. THE SYSTEM DESCRIBED HEREIN HAS BEEN’”f?E? 057 30,
:_——_*::\ -~ Expiration Date 09/15/2021 TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING @Q@a ) kL ggd
Céﬂ% - p T SEVENTH EDITION (2020), FOR USE WITHIN AND OUTSIDE,T O ~Texe
1 / e / = By 5% HIGH VELOCITY HURRICANE ZONE, PER TAS 201 / 202 / 203’ BS g 2EX
¥ Miami-Dade Product Control STANDARDS. s<wof 9
B 2. NO 33-1/3% INCREASE IN ALLOWABLE STRESS HAS BEEN ScDELS
N e PLAN VIEW USED IN T(;-lE DEaIGN OF l?-us SYSTEM. WIND LOAD DURATION 7 nocﬁ QzGu
FACTOR Cd=1.6 HAS BEEN USED FOR WOOD ANCHOR DESIGN. Hite Smp 2z
S— :ﬁgg:’.g:g'}vﬁﬂfg Ellzri da 3. POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED \ z 292G
Building Code FOR USE WITH THIS SYSTEM SHALL BE DETERMINED BY OTHERS ne &6
DETAIL B NOA-No. 21-0823.04 ON A JOB-SPECIFIC BASIS IN ACCORDANCE WITH THE ol "
SEE SHEET 4 & 5 FOR OPTIONS GOVERNING CODE. ©n
- A Expiration Date 09/15/2026 4. THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT
D PROVIDE INFORMATION FOR A SPECIFIC SITE. FOR SITE
By /g%y CONDITIONS DIFFERENT FROM THE CONDITIONS DETAILED J
Miami-Dade Product Control HEREIN, A LICENSED ENGINEER OR REGISTERED ARCHITECT =
" _ SHALL PREPARE SITE SPECIFIC DOCUMENTS FOR USE IN g <
| CONJUNCTION WITH THIS DOCUMENT. S w 3
| 5. CONTRACTOR SHALL VERIFY THE ADEQUACY OF THE EE O
1 EXISTING STRUCTURE TO WITHSTAND SUPERIMPOSED LOADS. 22 o ol
§ k WOOD BUCKS (BY OTHERS) SHALL BE ANCHORED PROPERLY TO ® o N §2
TRANSFER LOADS TO THE EXISTING STRUCTURE. 235 wluwdd
1 | B 6. ALL BOLTS & WASHERS SHALL BE ZINC COATED STEEL, 2 & ol i
o ———— -1 | , GALVANIZED STEEL, OR STAINLESS STEEL WITH A MINIMUM w Ya-lony
4 s | TENSILE YIELD STRENGTH OF 60 KSI U.O.N. & EQX%|° S«
ey , = 7. ALL DISSIMILAR MATERIALS IN CONTACT SHALL BE Z sni|5FS
” ‘*g Bl SEE SHEETS 7 OF 8 PAINTED, PLATED OR OTHERWISE INSULATED. e 9% |84aw
o 24.000 MAX ol t=H | AND 8 OF 8 FOR DETAIL 8. DOOR HEIGHT MAY VARY UP TO A MAXIMUM HEIGHT OF cz> g g ] » 5 E
PANEL HEIGHT PANEL HARDWARE 120", PROVIDED THAT INDIVIDUAL PANEL HEIGHTS DO NOT Zounlvzo
1 » | =1 EXCEED 24", AND A TOP PANEL IS USED AS SHOWN IN DETAIL 1/6. < T84 é &=
| F | g 9. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE 5 kza5l238
wl ; - : WITH THESE DRAWINGS & MAY NOT VARY UNLESS SPECIFICALLY =z Q SlBIE
I s — =N MENTIONED ON THE DRAWINGS. 25 8les g
el & N o ‘_1_i
i 24000 MAX | D E E i 8 é
' o - - z
' 120.000 VARIES PANEL HEIGHT 7 : ~— SEE SHEET 4 OF 8 ALLOWABLE 8 i 9
o - -/ AND SHEET 5 OF 8 S un £
o Bveeaub = ) ' FOR DETAIL LOWER DESIGN PRESSURES S =
2 - %A =l || TRACK ASSEMBLY P
i = = WITH STEEL TRACK (SHEET 4) 2
24,000 MAX . o -
PANEL HEIGHT ) @ @ +52.0 PSF MEEREEER
o = T ) =1 28182585
1 =¥ 1| SEE SHEET20F 8 -60.0 PSF 35585138 2
. o e ] FOR DETAIL - 2
£ e e = .| PANEL ASSEMBLY WITH FH I1-A-T TRACK (SHEET 5) Elalgigimig a2
n 52 O PSF Ok Q||
il 24.000 MAX = | i toc. £ z|oz|x
[4 alal2lE2|e
i PANEL HEIGHT |- \ - -67.5 PSF B2i2|2|& 2|zl
i - E 4 SEE SHEET 6 OF 8 g &
y - = s FOR DETAIL TRACK g E
2 S jil=; <=} ["|  ANCHOR MOUNTING 2. g8
i) " g P é Siw = glu
! i VISIT ECALC.10/26611 ::" MERESSEIRE
24.000 MAX- | 2280522 8
1 : | FOR SITE SPECIFIC DEVIATIONS A e MR P b
= SEE SHEET 3 OF 8 & MORE INFORMATION ABOUT THIS DOCUMENT a{ HEEERIEEE
5% M j FOR DETAIL OR SCAN THIS QR CODE
1= I I PANEL COMPONENTS VISIT ENGINEERINGEXPRESS.COM/STORE E =
FOR ADDITIONAL PLANS, REPORTS & RESOURCES 20-26611
o
SECTION A-A A o -
SECTION SIDE V'EW PAGE DESCRIPTION:
120,000 MAX DOOR OPENING WIDTH/ TRACK SPACING o L
INTERIOR ELEVATION ﬂ T
S



utrera
New Stamp

utrera
New Stamp


C:Users\eric\Engineering Express\Production - Documents\Projects\20-26611 - NOA - 16-0725.02 - Model CW WL Dock Garage Door up to 10WAWP\2020 FBC\6b 20-26611d CW WL Fiberglass Dock Doors {NOA).dwg

eric

08/11/2020 - 3:26pm

4.375" MAX DIA HOLE FOR
—— PORTHOLE WINDOW

(WINDOW PANEL ONLY)

(3 HOLES MAX, PER TESTING)

24" MAX
@ il PANEL HEIGHT

118.75"
ot MAXIMUM PANEL WIDTH ]
PANELS 1.25" LESS THAN JAM OPENING
/ 0
85"
MAX
oeosss meeoksoy Lo
. . TYP.
10-00043 —™ ,
i 0
1/4-20 x 2.25
RIBNECK BOLT —— s
(PERIMETER)
10-00145
145 EXTERIOR SKIN .|
FIBERGLASS 20-01713 .
BLADE SEAL EXT. CW
TOP PANEL ONLY
PART NO. 30-0166 OR
PART NO. 30-0170
{PACER —
Eﬁggﬁ }éo EDGE - 75 FOAM ROPE 1-1/4" DIA, CLOSED CELL POLYETHYLENE
OF PANEL o TOP PANEL TOP OF SIDE SEALS
g5\ [800 BOTTOM PANEL BOTTOM OF SIDE SEALS
{ \ BOTTOM SEAL 1 IN EACH END
PART NO. 20-00973
& SIDE SEAL
VINYL
20-00212
- ©
225 —
SIDE ———#=
SEAL 1.5 XEPS FOAM
COMPRESSIVE STRENGTH OF 15 PSI MIN
PANEL 20-01104 OR
EDGEEL . EPS FOAM 20-00124

GASKET, RUBBER
PART NO. 20-01070

TUBE, ALUMINUM
PART NO. 20-01034

NUT, INNER, _ GASKET,
RUBBER
ALUM
PART NO.
PART NO. A 20-01070
20-01031 SR

WINDOW, ] )
POLYCARB
(LEXAN)
PART NO. NUT, OUTER,
20-02189 LP- ALUM
PART NO.

20-02287 PORTHOLE ASSY, CW THERMAL

PART NO. 30-01095

NUT, INNER, ALUM
PART NO. 20-01031

GASKET, RUBBER
PART NO. 20-01070

\ NUT, OUTER,
LP- ALUM
PART NO.

TUBE, ALUMINUM 20-02287

PART NO. 20-02328

PORTHOLE ASSY, CW
PART NO. 30-01094

CW WL PANEL ASSEMBLY

8.5" /~ CENTER OF PANEL

6.0" MAX
MAX 4 1

P 120"
MAX y PART NO. 30-01166 OR
TYP. .
O J RETAINER ALUM
BLADES SEAL
PART NO. 2002028
lLPANEL
BLADE SEAL __
2-1/2" EPDM BLK
TOP PANEL ONLY

PART # 20-02409

1.58" SQUARE TUBE wINDOW PANEL
FIBERGLASS
20-02392

4.375" MAX DIA
HOLE FOR
PORTHOLE

—— BLADE SEAL EXT. CW
TOP PANEL ONLY

PART NO. 30-01170

WEATHER STRIP
SPONGE RUBBER
20-01678

PANEL SPACER

PLASTIC

20-00008

((4X) #8 x 3/4" TEK SCREWS)

TOP CORNERS OF ALL HINGED JOINTS

CORNER TUBE BRKT
STEEL PART NO. 20-02377

1.5" SQUARE TUBE

XBOTI’OM SEAL

35 OZ VINYL

FIBERGLASS
20-02389

tea—— 125 INTERIOR SKIN

MATERIAL POLYCARBONATE
PART NO. 20-00084 OR ALT
THERMOPLASTIC POLYOLEFIN
PART NO. 20-02277

PRODUCT RENEWED

as complying with the Florida

Building Code
NOA-No. 21-0823.04

Expiration Date 09/15/2026

By /%’5

Miami-Dade Product Control

20-01798
{BOTTOM PANEL ONLY)

5/16-18 FLNG NUT

3 PER CORNER
10-00007

PRODUCT REVISED

as complying with the Florida

1/4-20 FLNG NUT Buildi
ONLY (3 HOLES B PERIMETER Ngl::l;g Code 20-0901.12
MAX, PER TESTING) 10-00005 —e- - .
Expiration Date 09/15/2021
By /%y
Miami-Dade Product Control
[—
ALT. CORNER
TUBE
BRACKET PNO.
20-02377

i | § FRANK BENNARDO, PE

106

&

e
'3,

(954) 354-0660 | (866) 396-9999 © ¢
TEAM@ENGINEERINGEXPRESS.COM

o | fo
, FL ]

CORPORATE OFF

ENGINEERINGEXPRESS.COM

160 SW 12th AVE,
DEERFIELD BEACH

SUSSEX, WI 53089
FAX: (262) 246-1301

PHONE: 1-800-575-3366
FIBERGLASS DOCK DOORS
CW WL OVERHEAD GARAGE DOOR
MIAMI-DADE NOTICE OF ACCEPTANCE

N56 W24701 NORTH CORPORATE CIRCLE, SUITE A

oanan1] TKO DOORS, DIVISION OF 4FRONT ENGINEERED SOLUTIONS, INC.

12/02/11
10/09/12
05/19/15
02/05/18

FLB

FLB
FLB

EPR |RWN 107/31/20

RWN {CSL
AMD |RWN (06/21/16

DRWN|CHKD | DATE

KL
KL
KL

INIT ISSUE (11-TKO-0001)

2010 FBC

NAME CHANGE

FBC UPDATE

REV - NEW PARTS

2017 FBC & MD COMMENTSIRWN |FLB

REMARKS
FBC UPDATE

20-26611

SCALE: | -

PAGE DESCRIPTION:

8

25



utrera
New Stamp

utrera
New Stamp


CaUsers\eric\Engineering Express\Production - Documents\Projects\20-26611 - NOA - 16-0725.02 - Model CW WL Dock Garage Door up to 10WAWP\2020 FBC\Bb 20-26611d CW WL Fiberglass Dock Doors (NOA).dwg

eric

08/11/2020 - 3:26pm

1

» (G

ﬁ.75’<— _

BASED ON PANEL LENGTH

WEATHER STRIP SPONGE RUBBER PART # 20-01679

BLADE SEAL EPDM BLACK 2-1/2" PART NO. 20-02409
LENGTH BASED ON PANEL LENGTH

RETAINER, ALUM. BLADE SEAL PART NO. 20-02028 LENGTH BASED ON PANEL SIZE

1.23 —# i lt——— 5. 63 ———— =]
O O O | CORNER TUBE BRKT 4.00
118 THK. STEEL
412 20-00001 1 25DIA
5 .
J FOAM ROPE1-14" DIA
PART NO 20-00973
123 e - 5E3 -
} O
4.12 Al T. CORNER TUBE
BRKT .119 THK. ;
_ STEEL 20-02377 i
— 3.63 — 3.63

_L_El;;:

f< 4.9@

BLADE SEAL EXT. CW
PART NO 30-01170

N E—ﬁ

25.25

| I

SIDE SEAL

22 OZ. VINYL

20-00212

SCALE 1:12

BOTTOM PANEL ONLY

C

RN

SIDE SEAL

22 OZ. VINYL

20-00132

SCALE 1:12
NON-BOTTOM PANELS

JL_ME;;IA
r« 4.94 »1

BLADE SEAL EXT. CW
PART NO 30-01166

PRODUCT RENEWED
as complying with the Florida

Building Code

NOA-No. 21-0823.04
Expiration Date 09/15/2026
By /;ﬂf;ﬁy

Miami-Dade Product Control

——1.5" SQUARE TUBE

| 118.75 -
- - FIBERGLASS
r MAXIMUM PANEL WIDTH ’ 2002392
125 EXTERIOR SKIN ——»—! ?
FIBERGLASS PORTHOLES NOT
20-01713 SHOWN FOR 24.0 MAXIMUM

CLARITY, SEE PANEL HEIGHT

SHEET 2 ‘
118.75"

.125 INTERIOR SKIN
POLYCARBONATE OR TPO

20-00084 OR 20-02277

MAXIMUM PANEL WIDTH

|

A3

% PANEL SPACER
PLASTIC
20-00008

1.5" SQUARE TUBE

FIBERGLASS

—-1.5" SQUARE TUBE

FIBERGLASS
20-02389

|
|

?

53.00

o

!

T

@

|
|
|

PORTHOLES NOT
1.5 INSULATION - B SHOWN FOR PANEL HEIGHT ©
EXPANDED POLYSTYRENE CLARITY, SEE MINUS 3.0
20-00124 OR SHEET 2
XEPS PART NO. 20-01104
-~ PANEL WIDTH MINUS 3.25" =
e} (&) [ o o] [ o ¢ [ O
) (o Q o ) o] o o ] o
i \ EQUALS PANEL WIDTH o

PRODUCT REVISED

as complying with the Florida

BOTTOM SEAL
35 OZ VINYL
20-01798

Building Code
NOA-No.

20-0901.12 |

PANEL WIDTH MINUS 3.00"
PNO. 20-02392*

Expiration Date 09/15/2021

By @Q@

FOR USE WITH CORNER BRACKET #20-02377
(LENGTH VARIES WITH PANEL SIZE)

1.5" SQUARE

Miami-Dade Product Control

TUBE,
FIBERGLASS

.13»»}—'—*-

\ 3.24 J
PANEL SEAL

VINYL
20-01609

]

PANEL HEIGHT
MINUS .500"
PNO. 20-02389**
(FOR USE WITH CORNER
BRACKET #20-02377)

|

** LENGTH

VARIES WITH
PANEL HEIGHT

1 FRANK BENNARDO, PE
046549 CAH9885

o

ENGINEERINGEXPRESS.CO

-99
S5

TEAM@ENGINEERINGEXPRE!

(954) 354-0660 | (866) 396:

160 SW 12th AVE;,
DEERFIELD BEACH

J
=
—

)

Z< —

Sw &
| il g 2
23 ¢ w
o .« x Y
A I -
0 ~ @]

(] wn b

2 x Jlxoy
LuU NOuJU
== %vO(DU
=] on D§<
LD§M< ¥ o W
= w1y Fo
R o By
= a2 lal=)
z ¥~ < Y
© OoX8lnui
£ OuWmizo
by 7)) 3&{2
< T wi
w ES3N|O>Ww
O XpmnmlepQ

(@] L <

Z = oilm - A
(@] [=3 Eie—an
Gz %|*Zg
e v~
=5 L 0g
0o N o] 5

- = z
v @)

& 1B &

Sz &

a
o
<
’_.

i N [l
wiricic|z- |l (S
BISIREI5|SIBE
nigigslygle
913191288195
S REEE
Sleli |0 |w &

z
ZinolZ
E.J_:_x§§§§
ogR x| Z|Z®
]

o= =

f=1 w

b= =

s

ol || lel

I el Zle
n =l SwE|E|w
¥ul |ZE izl
iDL ISInQa
P2 |OCIs|Z|® |5
= QLS| o
Glel2iZieznlsle
rz & 2R ERIE

SCALE:

PAGE DESCRIPTION:

8

S



utrera
New Stamp

utrera
New Stamp


g% ¥y E

C:\Users\eric\Engineering Express\Production - Documents\Projects\20-26611 - NOA - 16-0725.02 - Model CW WL Dock Garage Door up to 10W\WP\2020 FBC\6b 20-26611d CW WL Fiberglass Dock Doors (NOA).dwg

eric

08/11/2020 - 3:26pm

NUT, FLNG, 1/4-20-
PNO. 10-00005

STL CW WL LOWER TRACK ASSEMBLY

PART NO. 10-00029

0.890
) L“”".'__

1,500
N 1 @

TRACK, WW, SPLICE ANGLE, SKO
(12-GA HRP&O* .1046)

PART NO. 20-00065

* HOT ROLLED STEEL, PICKLED & OILED

ALLOY GRADE: YZALSIM2 - YL102 (Fu = 31 KSI)

PRODUCT RENEWED

as complying with the Florida

Building Code
NOA-No. 21-0823.04

Expiration Date 09/15/2026

o
By %

Miami-Dade Product Control

120.000 —1.500
o o o o o o o a o o [=} a =} o o 23 (a3 [=} o [=] a a3 o [=} [a} o o J -
LEFT HAND SIDE TRACK T D000 00 s W i R T TO DO O000
A 5.700
L o o
| +——STRT TRACK (STEEL)
: PART NO. 20-01620
(LENGTH VARIES WITH DOOR SIZE) l_
TRACK, WW, SKO EXT. 120" WLD PART NO. 20-02203 2750
(12-GA STEEL, ASTM A653 G90)(Fy=36 Ksi, MIN)
6" WW TRN-ALUM LH R R =" - e s e o s
PART No_ 20_00170 OO0 o000 r—-\\ D OO0 0O TUTY
91° 5.700 5.700 91°
| | 12" SKO STEEL TRACK 1DEG LH* RIGHT HAND SIDE TRACK ° ° \ l / ° a
| * ONLY SV APPLICATIONS . ‘
(BB PART NO. 20-01727
I .
3 ————12.000~~4 2750 2.750 [ 12.000 |
! ' TRACK, WW, SKO EXT. 12" 1DEG RH*
| STRT TRACK (STEEL)—— TRACK, WW, SKO EXT. 12" 1DEG LH* (12-GA’ AB53 GO0 STEEL)
1 PART NO, 20-01620 (12-GA A653 G0 STEEL) * ONLY SV APPLICATIONS
! (LENGTH VARIES WITH DOOR SIZE) * ONLY SV APPLICATIONS PART NO. 20-01726
; PART NO. 20-01727
| 6" WW TRN-ALUM RH
! PART NO. 20-00171
| g 24.000
| Y f—~t—1.500
| 12" SKO STEEL TRACK 1DEG RH* S [a] al o 0 o u] a o o a] o s}
* ONLY SV APPLICATIONS s SKO SPLICE ANGLE e e
PART NO. 20-01726 , ﬁ% PART NO. 20-00065 4520 L
- : 0.880
BOLT, CRG, 1/4-20 X 3/4"//\; N ©« o © © 5 8 o8 8o o o &5 o
PART NO. 10-00026 ! ?@@L
: ——NUT, FLNG, 1/4-20 TRACK, WW, STRT EXT. 24" PART NO. 20-01620
s PART NO. 10-00005 (14-GA STEEL, ASTM A653 G90)(Fy=36 Ksi, MIN)
e 2.250-—»I
i ) ONeJ © JEUCH ‘1
{ 6.000
I S o kel o
s | 0.500—~ |-
o | - 36.000 ,
X s TRACK, STL, IMPACT-A-TRACK 36" (UHMW**)  UHMW** (ULTRA-HIGH-MOLECULAR-WEIGHT POLYETHYLENE)
' PART NO. 20-01686
“t——BOLT, CRG, 1/4-20 X 2-1/2" | EE
PART NO. 10-00049 1 e 5.000
\ o I 1 o T M?
¥ )| L______,,_—J
IS I 3.640 | 5.320 5.320
v TRACK, STL, .A.T. SKO 36" EXT. (NN = =
! PART NO. 20-01686 . =t )
S (OPTIONAL PER CUSTOMER'S REQUEST) HIEN 8,000~
Tl y " e TRACK, WW, 6" TRN LHALUMINUM) TRACK, WW, 6" TRN RH (ALUMINUM)
E,?;? SS (31’01.{)%537)( ! PART NO. 20-00170 PART NO, 20-00171
N ALLOY GRADE: YZALSIi12 - YL102 (Fu = 31 KSI)
BOLT, CRG, 1/4-20 X 2-3/4"

PRODUCT REVISED

as complying with the Florida

Building Code
NOA-No. 20-0901.12

Expiration Date 09/15/2021

)
By AS

) ;;ng BENNARDO, PE

549 CA#,0885 )

CORPORATE OFFICE

160 SW 12th AVE, S

(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM ¢
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FK 334

SUSSEX, WI 53089
FAX: (262) 246-1301

PHONE: 1-800-575-3366
FIBERGLASS DOCK DOORS
CW WL OVERHEAD GARAGE DOOR
MIAMI-DADE NOTICE OF ACCEPTANCE

N56 W24701 NORTH CORPORATE CIRCLE, SUITE A

041411} TKO DOORS, DIVISION OF 4FRONT ENGINEERED SOLUTIONS, INC.

12/02/11
10/08/12
05/19/15

02/05/18

B
FLB
LB

DRWN|CHKD | DATE
KL

KL

KL

RWN |CSL

AMD [RWN [06/21/16
EPR |RWN 107/31/20

2017 FBC & MD COMMENTS|RWN |FLB

INIT ISSUE (11-TKO-0001)
FBC UPDATE

2010 FBC
REV - NEW PARTS

REMARKS
NAME CHANGE
FBC UPDATE

20-26611

SCALE: ] -

PAGE DESCRIPTION:

Miami-Dade Product Control

&



utrera
New Stamp

utrera
New Stamp


C:\Users\eric\Engineering Express\Production - Documents\Projects\20-26611 - NOA - 16-0725.02 - Model CW WL Dock Garage Door up to 10WAWP\2020 FBC\6b 20-26611d CW WL Fiberglass Dock Doors (NOA).dwg

eric

08/11/2020 - 3:26pm

FULL HEIGHT IMPACT-A-TRACK (FH I-A-T) CW WL LOWER TRACK ASSEMBLY

R

SPLICE CHANNEL (8-GA, ASTM A653 G90)(Fy=35 Ksi, MIN)

PART NO. 20-00603

SPLICE CHANNEL STAINLESS STL (8-GA, TYPE 304 SS)(Fy=30 Ksi, MIN)

PART NO. 20-01083

LEFT HAND SIDE TRACK

T
B
.-: N
UW UNIVERSAL STEEL — {54
PART NO. 20-00564* [ |
* LENGTH VARIES W/DOOR & |
TRACK CONFIGURATION |-
4
a
A%
A
A
AN
-k
c: ks
5/16-18 FLNG NUT -
PART NO. 10-00007 —\ZL“
A
,: ks
A
By
REVERSE MOUNT

N

UW STRT TRACK

PART NO. 20-00183*
*LENGTH VARIES W/DOOR &
TRACK CONFIGURATION

x | TRANSITION UW 12" LH

PART NO. 20-01839

TRANSITION UW 12" RH —|
PART NO. 20-01838

UW SKO TRACK
I PART NO, 20-00582* |
* LENGTH VARIES W/DOOR &
TRACK CONFIGURATION
SCREW, PFH,
TS a8 X o
P NO. 10-00046
12.000
0.C. MAX
10.000
2,000

rd

STANDARD MOUNT

1 1
2.750
4

132.000
E O 0o 0 0O 0O O O 0O 0O 0 0 O ‘S
3818 O 0 0 0 0 0 0< <0 0O O 0 O

UW UNIVERSAL STEEL (8-GA, ASTM A653 G90)(Fy=35 Ksi, MIN)

PART NO. 20-00564
UW UNIVERSAL STAINLESS STL (8-GA, TYPE 304 SS)(Fy=30 Ksi,MIN)
PART NO. 20-01539

120.000

RIGHT HAND SIDE TRACK

N

'\.1

%]
)

=)

TSR
A A

==

N R T R A R S S )
e Tn e e Th T m e e e e e m m e e e m a e T e e e s e

T N T T T S S R N N NI MY

\»h\unsn\\ﬁh»a\\~\f‘»\\\‘\\sn\

SPLICE CHANNEL

< [I—— (OPTIONAL)

PART NO. 20-00603

UW SKO TRACK (UHMW**)
PART NO. 20-00582

5.125

2.000

e I

UW LH TRANSITION (UHMW**)
PART NO. 20-01839

| 12.000 |
e

[-~}-2.000

UW RH TRANSITION (UHMW**)
PART NO. 20-01838

12.000

©

|| e=—5/16-18 FLNG NUT

PART NG.10-00007

UW STRT TRACK (UHMW**)

2.37
2.000

PART NO. 20-00183

UHMW** (ULTRA-HIGH-MOLECULAR-WEIGHT POLYETHYLENE)

PRODUCT RENEWED

as complying with the Florida

Building Code
NOA-No. 21-0823.04

Expiration Date 09/15/2026

By /?%’S

Miami-Dade Product Control

PRODUCT REVISED

as complying with the Florida
Building Code

NOA-No. 20-0901.12
Expiration Date 09/15/2021
py A

Miami-Dade Product Control

FRANK BENNARDO, PE
: 0046549 CA¥ 9885

106

CORPORATE OFFICE:

(954) 354-0660 | (866) 396-9999

DEERFIELD BEACH, FL 33442 |
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

160 SW 12th AVE, SUITE

SUSSEX, WI 53089
FAX: (262) 246-1301

PHONE: 1-800-575-3366
FIBERGLASS DOCK DOORS
CW WL OVERHEAD GARAGE DOOR
MIAMI-DADE NOTICE OF ACCEPTANCE

N56 W24701 NORTH CORPORATE CIRCLE, SUITE A

oan411} TKO DOORS, DIVISION OF 4FRONT ENGINEERED SOLUTIONS, INC.

DATE
12/02/11
10/09/12
05/19/15
02/05/18

FLB

FLB
FLB

AMD |RWN_|06/21/16
EPR |RWN |07/31/20

DRWNCHKD
KL

KL

KL

RWN |CSL

2017 FBC & MD COMMENTS|RWN |FLB

INIT ISSUE (11-TKO-0001)

2010 FBC
REV - NEW PARTS

REMARKS
NAME CHANGE
FBC UPDATE
FBC UPDATE

20-26611

SCALE: | -

PAGE DESCRIPTION:

L8|

S



utrera
New Stamp

utrera
New Stamp


C:\Users\eric\Engineering Express\Production - Documents\Projects\20-26611 - NOA - 16-0725.02 - Model CW WL Dock Garage Door up to 10WAWP\2020 FBC\8b 20-26611d CW WL Fiberglass Dock Doors (NOA).dwg

eric

08/11/2020 - 3:26pm

ANCHORING NOTES:

1

THIS SYSTEM SHALL BE ANCHORED WITH ANY OF THE ANCHORING METHODS SHOWN

HEREIN, WITH TWO ANCHORS LOCATED 3" AND 12
AND MAX 12" 0.C. THEREAFTER OR EVERY OTHER

RECOMMENDATIONS.

' FROM THE BOTTOM OF THE TRACK
MOUNTING 8LOT.

. ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURERS

WHERE ANCHORS FASTEN TO NARROW FACE OF STUD FRAMING, ANCHOR SHALL BE

LOCATED IN CENTER OF NOMINAL 2X (MIN) WOOD
ACCEPTABLE FOR ANCHORS TO WOOD FRAMING).
WOOD HOST STRUCTURE SHALL BE "SOUTHERN P
MINIMUM EMBEDMENT AND EDGE DISTANCE EXCL
OTHER WALL FINISHES.

WHERE EXISTING STRUCTURE 1S WOOD FRAMING, EXISTING CONDITIONS MAY VARY.
FIELD VARIFY THAT FASTENERS ARE INTO ADEQUATE WOOD FRAMING MEMBERS, NOT

INTO PLYWOOD.

. WOOD BUCKS (BY OTHERS) SHALL BE ANCHORED

THE EXISTING STRUCTURE.
MACHINE SCREWS SHALL HAVE MINIMUM OF1/2" E

ANCHOR AND MAY HAVE EITHER A PAN HEAD, TRUSS HEAD, OR WAFER HEAD

("SIDEWALK BOLT") U.N.O.

a

| eE
AEH
B s

CW WL TRACK ANCHOR MOUNTING

STEEL TRACK ANCHOR MOUNTING

FRANK

B’E?NARDO, PE
5

9 CAH 0885
B

ANGLE TO STEEL ANGLE TO STEEL
'(ASI\IT(/;\%\;EL)/T&S%\AO()C&%ONCRETE WITH PLUG WELD WITH STITCH WELD
STUD (l.e. 34" EDGE DISTANCE IS (STANDARD MOUNT) (STANDARD MOUNT)
— MIN EDGE
INE” G=0.55 OR GRATER DENSITY.
UDES STUCCO, FOAM, BRICK, AND T | DISTANCE -
- ey 10 GAMIN— = 10GAMIN —~
MIN EMBED | ’ A36 STEEL A36 STEEL
PROPERLY TO TRANSFER LOADS TO
NGAGEMNET OF THREADS IN BASE /‘pf
3/8" X MIN 4" SLEEVE ANCHOR* LG WELD
* $3/8" DEWALT DOUBLE EXPANSION (FULLY WELS TRACK )
ANCHOR TO HOLLOW OR GROUT FILLED ANCHOR SLOT, ;_';('?CII:!OV,\\III?LD
& CONCRETE BLOCK, WITH 1-1/2" MIN EMBED., E70XX ELECTRODE) ~_ 1-1/2"LONG Ja" FILLET
4" MIN EDGE DISTANCE/CENTER OF CELL; _ STITCH WELD (
4\ OR (3/8" DEWALT SCREW BOLT ANCHOR, WELD, E70XX)
\ [& 2" MIN EDGE DISTANCE, 2-1/2" MIN EMBED. ’
h\| A |§ INTO GROUT FILLED CONCRETE BLOCK (SEE ANCHORING NOTE) (SEE ANCHORING NOTE)
4\\ ' 1\ |§ (SEE ANCHORING NOTE) FH I-A-T TRACK ANCHOR MOUNTING
.1 ( 1\'\’& ANGLE TO STEEL ANGLE TO STEEL ANGLE TO BLOCK/ CONCRETE
4\\ T~ fi 1& WITH PLUG WELD WITH STITCH WELD (STANDARD MOUNT)
| 1 (REVERSE MOUNT) (REVERSE MOUNT) B
| : - 4.168 :
i\ ‘N , ]’. . 10-GAMIN MIN EDGE =4
' § I A36 STEEL DISTANGCE | * ‘ .
| | e 10-GAMIN . MIN EMBED
4\\ q 1\}’ t—2.168 A36 STEEL SRR
| { ] '\ _ A_ﬂ_; PLUG WELD B @i v gg/s" FLAT WASHER
§ L— 6- n 2u
<\\ N ‘ 4’0 - (FULLY WELD TRACK - P NO. 10-00046 3/8" X MIN 4"
] ! L | ANCHORSLOT, B , SLEEVE ANCHOR*
1 . 516-18 J@ —1]  E70XX ELECTRODE) x éiﬂ 1-1/2" LONG
4\\ AT ll’ FLNGNUT || “SCREW, PFH, G EnEr OB X 22
} J ‘\ P NO. 10-00007 § 5/16-18 X 2-1/2" 1-1/2" LONG { P NC-) 10-06046
l I Al |’ P NO. 10-00046  STITCH WELD WELD, E70XX) ’
N : (1/4" FILLET —
N | b‘ — WELD, E70XX) S—
5 4 W _ (SEE ANCHORING NOTE) (SEE ANCHORING NOTE) (SEE ANCHORING NOTE)
12.000 MAX. TYP. [{I I >
DETAIL C i i ]\\\ R
ESHEET50OF8 _i%0% N 5 f ‘ (FH I-A-T) STEEL ANGLE STEEL ANGLE
* N b *7 mEEE T TRACK ANCHOR SLOT TRACK ANCHOR SLOT
FOR DETAIL) oco— lw] i R
T | ey ot
PLATE, TRUSS COMCCTOR i
0 - ‘ 0.500
—— R finly used if mounting to wgod onl
: ' m = \;[
L S
ANCHOR o 38 @%{%33 JL / !
BRACKET, g EEEE D .
FLOOR TO TRACK Sl X A e LT ol Ry - ]'—1~°°°
PART NO. 20-00007 - T NETRATION, [l 2 [ 400 o0 DETAIL A
N " g S PLATE, TRUSS CONNECTOR DETAIL B
NN 3/4” MIN EDGE e I X4 10-00088 (SEE ANCHORING NOTE)
N DISTANCE L . Only used if mounting to wood only (SEE ANCHORING NOTE)
AT R T K e PRODUCT RENEWED PRODUCT REVISED
5/16-18 —1 E ~3/8" X' LAG BOLT WITH as complying with the Florid as complying wi i
aan plying with the Florid
FLNG NUT | 1-8/4" MIN THREAD PENETRATION, Building Code orica Building Gode niaa

P NO. 10-00007

(SEE ANCHORING NOTE)

P NO. 10-00046

—1-
\_SCREW, PFH,—
5/16-18 X 2-1/2"

é \ UW UNIV STEEL

TEST MOUNTING ON WOOD

3/4" MIN EDGE DISTANCE

(SEE ANCHORING NOTE)
** ULTRA-HIGH-MOLECULAR-WEIGHT POLYETHYLENE

NOA-No. 21-0823.04
Expiration Date 09/15/2026

By /,%@

Miami-Dade Product Control

NOA-No. 20-0901.12
Expiration Date 09/15/2021
By Griz

Miami-Dade Product Control

R
w3 L
u{«m 82
L alo
e 800
VQDU_.'OLUV)
v (n g
[T \2&5
O ~IL©
pWpB8se
vzx
'::><--ou
AR
R85
N0 38w
QN dRzu
Q EE@JH
Eéegg
U)u..l i
8w
1_‘0
J
=
=
)
-
o
EE m
oD 1 w
= W ) O
o . < 4
v ow ~ oz
2 g <lvwere
w5 a mDCL
o bt o | x L
w0 o OLUU
[VE] [2) [«RU Ry
Z w0 .. A
= R o X I
S M Ll T
Z§mu_ U<O
W & - OLDLU
Ex=glo29
© oxXx8lVuE
£ OwXlvo
[T IS R
< T o wi
w s NjO>uWw
o o nlc [}
wn (e}
Zz oV juS«
z glada
o =3 F—
w3 9 L;E
] i
=5 ] ©F
(=] 8] 5
;; =
v) o]
g8 2
Sz &
(™)
O
>4
’,—.
wlT|CI¥282IR
EIFQIS|FITIB S
L3RIEE IR g
REINEEEES
Emmmngé
5lelc 8B EE
F3
ZlalZ
E_:_n_ngﬁgg
oZRIRIEIZE W
)
o =
f=3 w
b=3 =
3 03
ol E[S
als| SlwiE|E|y
¥la 1Z|2izi9ls
23RS |I2ERE
gQEsz,U—D
bl 2l=iezElQ
RHEHBEIEEES
SCALE: |

PAGE DESCRIPTION:

&



utrera
New Stamp

utrera
New Stamp


C:Users\eric\Engineering Express\Production - Documents\Projects\20-26611 - NOA - 16-0725.02 - Model CW WL Dock Garage Door up to 10WAWP\2020 FBC\6b 20-26611d CW WL Fiberglass Dock Doors (NOA).dwg

eric

08/11/2020 - 3:26pm

RANK BENNARDO, PE
“PEHG046549 CAY 9885 \

FASTENER NOTE:
CW WL PANEL HARDWARE
FIXED PLUNGERS, HANDLES, AND TPU CABLE BRKTS, }*’4-25‘4 1.83 l““
ARE MOUNTED TQ THE PANELS USING: 5
(3) 5/16-18 X 2-1/2" RIBNECK BOLTS AND (3) 5/16—18 FLANGE NUTS. !
SPRING PLUNGERS, AND ADAPTER PLATES ARE MOUNTED TO THE PANELS USING: }"'4'25 ~ 280 N L +
(4) 5/16-18 X 2—-1/2" RIBNECK BOLTS, (4) 5/16-18 FLANGE NUTS, = otk
AND (2) #10 — 3/4” TEK SCREWS. } 18D ol - MIN. 12 GA. STEEL HOUSING” 2.50 =3 .
3.00 @Eﬂ[ ‘ Hf:lj STEEL ROD wo &=
FABRIC HINGE, AND HINGE STRAP ARE MOUNTED TO THE PANELS USING: * i i aE T a0
(2) 5/16-18 X 2-1/2" RIBNECK BOLTS AND (2) 5/16-18 FLANGE NUTS. o uoag It LD ﬁau. &y
MIN. 12 GA. STEEL HOUSING—. _ 9.50 LY rakd
PANEL PLATES ARE MOUNTED TO THE PANELS USING: f STEEL ROD oG Ens
(6) 5/16=18 X 2-1/2" RIBNECK BOLTS, (8) 5/16~18 FLANGE NUTS, 1 FIXED PLUNGER FIXED PLUNGER E> -
(1) 1/4-20 X 2—1/4" RIBNECK BOLT AND (1) 1/4-20 FLANGE NUT. 30-00676 D 30-00676 no:< W 259
L S=zH
o (=4
SLIDE LOCKS ARE MOUNTED TO THE PANELS USING: SPRING PLUNGER ENQEeU
(4) #14 X 3/4" TEK SCREWS, 30-00792 - ——4.50 8-im Lz
- Xy L &=0
TORQUE REQUIREMENT FOR FASTENERS NOT IN CORNERS FMED PLUNGER - . HINGE WIRE STEEL 20-07604 = = o RS
RIBNECK 1/4-—20 BOLTS MUST BE TORQUED TO 30 +/-5 IN-LB s 2000676 @ + @ ow
5/16-18 BOLTS MUST BE TORQUED TO 45+ /-5 IN-LB. 3.00 -tmss ©a
PANEL PLATE 20-00644 ©  © 0O lg3
TPU CABLE LVL BRKF N L Qﬁﬁ?——@ >
. 20-01957 X FABRIC HINGE ASSY 30-00673 ' " © © o
TOP PICK UP TRACKS ONLY, ADAPTER PLATE 150 = | 3,00 = — 2 <
: | 20-01344  12-GA STEEL 40 0Z. VINYL FABRIC HINGE == A
I _SPRING PLUNGER - .62 | ] Fesd 2 LAYER  20-00019 23 b w
i ‘ Q . ¢ x Q
o - 30-00792 I: Ay N 52
:;‘% | 3.94 @ © 89 g ”’BE
|22 e ’ ‘ . g x ol
W P SLIDE LOCK @ @ © @ H0aS[88Y
TOP PANEL— ] ' 30-00004 & & E Hgxlog<x
(X4) #14 X 2" TEK SCREWS o s & & = 2hI|5IE
G STEEL COVER 20-01459 10-GA STEEL og 19w
% ZS 40 0Z. VINYL FABRIC HINGE EgZglogo
e 2 LAYER 20-01605 S 9xmluLh
INTERMEDIATE J d _ HINGE STRAP 20-00015 £ 0 E < @2
PANEL (4TH) K77 o o | s EanlSzy
«5‘ TPU CABLE LVL BRKT, UW o o ‘_Mmo . = o sluog
11-0CA AB53 GO0 PART NO. 20-0875 IR ; 25 8|E3a
"TOP PICK UP TRACKS ONLY" o o | 1.00 2 4 =2
o SPRING PLUNGER S - 58 al °F
4 30-00792 2.25 _HINGE STRAP 1 w = 2
"’ ’<m 5.25»1 20-00015 11-GA STEEL 2o 2
[
& & o 0 24.00 lt— 4.25 — ] g *
b SLIDE LOCK 5 - | 3.40 - 2
R 30-00004 @.38 0E T o ha
(x4) #14 X 3" Tex screws ~ STEEL
WINDOW PANEL (3RD)}—m] |, i PIN 3.00 m o) MEEEEEEE
' - Z131818.2|5 815
i} SPRING PLUNGER * 0000 f 83828885
KNOCK OUT LOCK—mmize N 30-00792 0 o 75— g 2 12
-005 oiolo|AS|o
J0-00590 ; SLIDE LOCK o o B
30-00004 P z
. KNOCK OUT LOCK : S zlolzx
(x4) 14 X T TEK SCREWS  hoes ot O ‘ ; Eog2Z3Eh
INTERMEDIATE R — HANDLE 20-00613 e 4.50 = = R 2
PANEL (2ND) ___SPRING PLUNGER PANEL PLATE — # g g
30-00792 20-00644 2 2|3
R 12-GA STEEL 12-GA STEEL SR CIMEIEIN
EY B= Z e [
HOUSING AEIRE A
SLIDE LOCK g2 LBz
on \ 30-00004 S g
BOTTOM PANEE INSIDE FACE OF PANEL L ! HERE R
%
- 4,44 -] — 512 }« PRODUCT RENEWED PRODUCT REVISED 20-26611
as complying with the Florida as complying with the Florida
. 90 f T Building Code Building Code SCALE: ] -
A — i 00 0600 NOA-No. 21-0823.04 NOA-No. 20-0901.12 PAGE DESCRIPTION:
= 3.00 =1 10-GA STEEE 3.83
CLEVIS BRACKET Expiration Date 09/15/2026 Expiration Date 09/15/2021
[OPTIONAL] By @%’y By /g&,y |
20-00295 HANDLE 20-00613 Y __
11—GA STEFL Miami-Dade Product Control Miami-Dade Product Control I_-Z)



utrera
New Stamp

utrera
New Stamp


C:AUsers\eric\Engineering Express\Production - Documents\Projects\20-26611 - NOA - 16-0725.02 - Model CW WL Dock Garage Door up to 10WAWP\2020 FBC\Bb 20-26611d CW WL Fiberglass Dock Doors (NOA).dwg

eric

MATERIALS LIST:

08/11/2020 - 3:26pm

Part Number Item Description Manufacmrer/Notes Location
FPanel Components
20-00084 0.118" interior skin Polycarbonate sheet Front face of all panels
20-01713 0.125" exterior skin Pultruded Fiberglass sheet Back face of all panels
20-00124 1-127 insulation ilb. density E.P.5. sheet Inside core of all panels
20-02392 1-1/2" SQ = 0.123" wall tube (horizontaly Pultruded Fibergalss tube Topbottom of all pael frames
2002389 1-1/2" SQ x 0.123" wall mbe (vertical} Pulauded Fibergalss be Sides of all panels frames
20-0237 Comer fube bracket 0.119 steel Corners of all panel frames
20-00008 Paned spacer HMPE plastic Tap comers of all panels foruing panel joint
2001879 "T¥" profile weather stripping Sponge rubber Top of all panels forming panel joint
20-00132 Panel Side seal 23 oz. Vinyl Sides of il non- bottom panel frames
20-00213 Bottom Panel Side seal 22 oz. Vinyl Sides of all bottom pane! frames
2001788 Bottom szal 35 0z, Vinyl Bottom panel
Fanel Hardware
3000676 FIXED plunger assembly TEO Doors {steel} 1 at each upper corner of 3rd panel & above
20-01459 Plunger Covers TEO Doors {steel} 1 each per plunger
30.01094/95 4" Porthale Assembly TKO Doors 1 in center of 3rd panel
20-00644 Panel Plate Galv 12-ga steel Sides of all panels
30-00673 Fabric Hinge Assembly 40 oz. Vinyl polyester (2 layer) Top corners of all panels forming panel joint
20-01605 Fabric Center hinge 40 oz, Viuyl polyester {2 layer) Top center of all panels forming panel joint
20-00013 Hinge strap TEO Doors (steel) 1 each for comer hinges 2 each for center hinges
2001604 Hinge Wire TEO Doors (steel) 1 each per cornet hinges 30-00673
30-00782 SPRING plhnger assembly TEQ Doors {steel) [6 per door] 1 at each upperlower correr of botior panel & 1 at each upper comer on Ind panel
20-01344 Plate, Adapter Galv. 12 ga. Steel Under each Spring Plunger 30-00643 except where handles 20-00613 aze Jocated
30-00004 Slide lock assembly TEO Doors (steel) [4 per panel] 2 ench on each end centered on panel
30-00580 Knock Out Lock, Windioad TEO Daors (steel} 1 per slide lock. (outhole of engaged lock’
2030613 Handle TEO Doors {steel} Lower corners of bottom panel &
20400873 TPU cable bracket {optional) TEO Doors (steel} Top cormers of top panel
20-00285 Bracket, Clevis [optional } TKO Doors]steel] Cable Attackment Point [varies]
2001608 Panel seal 40 oz, Vinyl palyester Between all panels forming panel joint (2 per)
Track Hardwore
20-00382 UW SKO track {length varies with door size} UHMWPE Lower frack
20-01838 UW 12" transition, FLH. UHMWEE Lawer track
20-0183% UW 127 tramsitions, LEH UHWMWPE Lower track
20-00183 UW st wack (Jength vanes with door size) UHMWEPE Upper track
2000603 Splice Channel (optiona] based on upper frack ) Galv 8-ga steel Lower track
20-00564 UW universal steel (length varies with door size) Galv 8-ga steel Lower track
Fasteners
10-30043 5/16-18 = 2.1/2" ribpeck bolt R 4 per panel corner {12 per panel)
10-00667 5/16-18 flange nut A E 4 per panel comer (12 per panel}
10-00145 1/4-20 % 2-1/4" sibneck bolt FRdEE 1 per vertical parel edge {centered) & min 12" 0.C. per horizontal edge
10-90065 14 Washer EREEE i per vertical panel edge {centered} & min 12" 0.C. per honizonta] edge
10-00003 1/4-20 flange nut FEREE 1 per vertical panel edge (centerad} & min 12" 0.C. per horizontal edge
10-00061 #8 x 3/4" tek screw FRAAEE 2 per panel spacer
10-00082 #14 x 3/4" tek screw i 4 per slide lock assembly, 2 per Spring Plungers where applicable
10-00046 5716-18 X 2-1/2" PFH screw FRAEE Min 127 O.C. per track length
1000087 5/16-1% flange nut FkEE Min 127 0.C. per track length
1000288 Plate, Truss, Connector 1" x 4" FREEE 1" abowe each fastener in lower rack
10-0028% Plate, Truss, Comnector 2" x 47 FAEEE Aligned with the bottom edge of lower track mounting surface

*ULTRA HIGH MOLECULAR WEIGHT POLYETHYLENE

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 20-0901.12
Expiration Date 09/15/2021

By /(%@

Miami-Dade Product Control

PRODUCT RENEWED

as complying with the Florida
Building Code

NOA-No. 21-0823.04

Expiration Date 09/15/2026
By ”é#’;—”y

i1 4 PES p046549 CAY 9885

0 p .

FRANK BENNARDO, PE

a4
14

(954) 354-0660 | (B66) 396-9999 fhd
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

TE0

CE:. ..
hy;
DEERFIELD BEACH, FLf3§344;

FF
Eé

5

CORPORATE G

160 SW 12th AVE,

Miami-Dade Product Control

FAX: (262) 246-1301

N56 W24701 NORTH CORPORATE CIRCLE, SUITE A
SUSSEX, WI 53089
FIBERGLASS DOCK DOORS
CW WL OVERHEAD GARAGE DOOR
MIAMI-DADE NOTICE OF ACCEPTANCE

PHONE: 1-800-575-3366

04114111 TKO DOORS, DIVISION OF 4FRONT ENGINEERED SOLUTIONS, INC.

12/02/11
10/09/12
05/19/16
02/05/18

FLB
FLB
FLB

RWN {CSL
AMD |RWN 106/21/16

DRWN|CHKD | DATE
[EPR |RWN [07/31/20

KL
KL
KL

REMARKS
INIT ISSUE (11-TKO-0001)

2010 FBC

2017 FBC & MD COMMENTS|RWN |FLB

NAME CHANGE
FBC UPDATE

REV - NEW PARTS
FBC UPDATE

20-26611

SCALE: | -

PAGE DESCRIPTION:

L8|

)



utrera
New Stamp

utrera
New Stamp


	NOA 21082304 Doc
	NOA 21082304 Dwg
	NOA 20090112 Dwg




